

GENERALIZED TYPE 2 DEGENERATE EULER NUMBERS

DAE SAN KIM¹, TAEKYUN KIM², AND CHEON SEOUNG RYOO³

ABSTRACT. Recently, the type 2 degenerate Euler numbers and polynomials were introduced by Kim-Kim. In this paper, we study the generalized type 2 degenerate Euler numbers, as a further generalization of the type 2 degenerate Euler numbers, and find explicit expressions for these numbers involving the degenerate central factorial numbers of the second kind.

For any nonzero $\lambda \in \mathbb{R}$, the degenerate exponential function is defined by Kim-Kim as

$$e_\lambda^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}}, \quad e_\lambda(t) = e_\lambda^1(t), \quad (\text{see [12]}). \quad (1)$$

Note that $\lim_{\lambda \rightarrow 0} e_\lambda^x(t) = e^{xt}$.

The generalized degenerate Bernoulli polynomials $\beta_{n,\lambda}^{(\alpha)}(x)$ and the generalized degenerate Euler polynomials $\mathcal{E}_{n,\lambda}^{(\alpha)}(x)$ are defined by

$$\left(\frac{t}{e_\lambda(t) - 1}\right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} \beta_{n,\lambda}^{(\alpha)}(x) t^n, \quad \left(\frac{2}{e_\lambda(t) + 1}\right)^\alpha e_\lambda^x(t) = \sum_{n=0}^{\infty} \mathcal{E}_{n,\lambda}^{(\alpha)}(x) t^n, \quad (2)$$

where $\alpha, x \in \mathbb{R}$ (or \mathbb{C}) and $\lambda \in \mathbb{R}$, (see [1,2,3]).

When $\alpha = 1$, $\beta_{n,\lambda}^{(1)}(x) = \beta_{n,\lambda}(x)$, $\mathcal{E}_{n,\lambda}^{(1)}(x) = \mathcal{E}_{n,\lambda}(x)$ are respectively called Carlitz's Bernoulli and Euler polynomials.

As is well known, the Stirling numbers of the first kind are defined by

$$(x)_n = \sum_{k=0}^n S_1(n, k) x^k, \quad (n \geq 0), \quad (\text{see [1-12]}), \quad (3)$$

where $(x)_0 = 1$, $(x)_n = x(x-1)\cdots(x-n+1)$, $(n \geq 1)$.

From (3), we note that

$$\frac{1}{k!} (\log(1+t))^k = \sum_{n=k}^{\infty} S_1(n, k) \frac{t^n}{n!}, \quad (k \geq 0), \quad (\text{see [8]}). \quad (4)$$

Let n be nonnegative integer. Then the central factorial numbers of the second kind are defined by

$$x^n = \sum_{k=0}^n T(n, k) x^{(k)}, \quad (5)$$

where $x^{[0]} = 1$, $x^{[n]} = x(x + \frac{n}{2} - 1)\cdots(x - \frac{n}{2} + 1)$, $(n \geq 1)$.

2010 Mathematics Subject Classification. 05A19; 11B83.

Key words and phrases. generalized type 2 degenerate Euler numbers; degenerate central factorial numbers of the second kind.

Recently, Kim-Kim introduced the degenerate central factorial numbers of the second kind given by

$$\frac{1}{k!} \left(e_{\lambda}^{\frac{1}{2}}(t) - e_{\lambda}^{-\frac{1}{2}}(t) \right)^k = \sum_{n=k}^{\infty} T_{\lambda}(n, k) \frac{t^n}{n!}, \quad (\text{see [4]}). \quad (6)$$

Further, Kim-Kim considered type 2 degenerate Euler polynomials given by

$$\frac{2}{e_{\lambda}(t) + e_{\lambda}^{-1}(t)} e_{\lambda}^x(t) = \sum_{n=0}^{\infty} E_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [6,9,10]}). \quad (7)$$

When $x = 0$, $E_{n,\lambda} = E_{n,\lambda}(0)$ are called the type 2 degenerate Euler numbers.

In this paper, we would like to consider the generalized type 2 degenerate Euler numbers, as a further generalization of the recently studied the type 2 degenerate Euler numbers. Then, among other things, we will find some explicit expressions for these numbers involving the degenerate central factorial numbers of the second kind.

1. GENERALIZED TYPE 2 DEGENERATE EULER NUMBERS

For $x \in \mathbb{R}$ (or \mathbb{C}), we consider the generalized type 2 degenerate Euler numbers given by

$$\left(\frac{2}{e_{\lambda}(t) + e_{\lambda}^{-1}(t)} \right)^x = \sum_{n=0}^{\infty} E_{n,\lambda}^{(x)} \frac{t^n}{n!}, \quad (8)$$

which are a degenerate version of the generalized type 2 Euler numbers defined by

$$\left(\frac{2}{e^t + e^{-t}} \right)^x = \sum_{n=0}^{\infty} E_n^{(x)} \frac{t^n}{n!}. \quad (9)$$

When $x = 1$, $E_{n,\lambda}^{(1)} = E_{n,\lambda}$, ($n \geq 0$). From (8) and (9), we note that

$$\begin{aligned} \left(\frac{2}{e_{\lambda}(t) + e_{\lambda}^{-1}(t)} \right)^x &= \left(\frac{2}{e^{\frac{1}{\lambda} \log(1+\lambda t)} + e^{-\frac{1}{\lambda} \log(1+\lambda t)}} \right)^x \\ &= \sum_{k=0}^{\infty} E_{2k}^{(x)} \frac{\lambda^{-2k}}{(2k)!} (\log(1+\lambda t))^{2k} \\ &= \sum_{k=0}^{\infty} E_{2k}^{(x)} \lambda^{-2k} \sum_{n=2k}^{\infty} S_1(n, 2k) \lambda^n \frac{t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} E_{2k}^{(x)} \lambda^{n-2k} S_1(n, 2k) \right) \frac{t^n}{n!}. \end{aligned} \quad (10)$$

Therefore, we obtain the following theorem.

Theorem 1.1. *Let n be a nonnegative integer. Then we have*

$$E_{n,\lambda}^{(x)} = \sum_{k=0}^{\lfloor \frac{n}{2} \rfloor} E_{2k}^{(x)} \lambda^{n-2k} S_1(n, 2k).$$

From (8), we note that

$$\begin{aligned}
 \sum_{n=0}^{\infty} E_{n,\lambda}^{(x)} \frac{t^n}{n!} &= \left(\frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^x \\
 &= \left(\frac{1}{\frac{e_\lambda(t) + e_\lambda^{-1}(t) - 2}{2} + 1} \right)^x \\
 &= \left(1 + \frac{e_\lambda(t) + e_\lambda^{-1}(t) - 2}{2} \right)^{-x} \\
 &= \sum_{j=0}^{\infty} \binom{-x}{j} \left(\frac{1}{2} \right)^j \left(e_\lambda^{\frac{1}{2}}(t) - e_\lambda^{-\frac{1}{2}}(t) \right)^{2j} \\
 &= \sum_{j=0}^{\infty} \frac{(-1)^j}{2^j} \binom{x+j-1}{j} (2j)! \frac{1}{(2j)!} \left(e_\lambda^{\frac{1}{2}}(t) - e_\lambda^{-\frac{1}{2}}(t) \right)^{2j} \\
 &= \sum_{j=0}^{\infty} \left(-\frac{1}{2} \right)^j \binom{x+j-1}{j} (2j)! \sum_{n=2j}^{\infty} T_\lambda(n, 2j) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \left(-\frac{1}{2} \right)^j \binom{x+j-1}{j} (2j)! T_\lambda(n, 2j) \right) \frac{t^n}{n!}.
 \end{aligned} \tag{11}$$

Therefore, by (11), we obtain the following theorem.

Theorem 1.2. For $n \geq 0$, we have

$$E_{n,\lambda}^{(x)} = \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \left(-\frac{1}{2} \right)^j \binom{x+j-1}{j} (2j)! T_\lambda(n, 2j).$$

It is easy to show that

$$\binom{x+j-1}{j} = \frac{(-1)^j}{j!} (-x)_j. \tag{12}$$

Thus, by (3), Theorem 1.2 and (12), we get

$$\begin{aligned}
 E_{n,\lambda}^{(x)} &= \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(2j)!}{2^j j!} (-x)_j T_\lambda(n, 2j) \\
 &= \sum_{j=0}^{\lfloor \frac{n}{2} \rfloor} \frac{(2j)!}{2^j j!} T_\lambda(n, 2j) \sum_{i=0}^j S_1(j, i) (-x)^i \\
 &= \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} (-1)^i \sum_{j=i}^{\lfloor \frac{n}{2} \rfloor} \frac{(2j)!}{2^j j!} T_\lambda(n, 2j) S_1(j, i) x^i \\
 &= \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \rho_\lambda(n, i) x^i,
 \end{aligned}$$

where $\rho_\lambda(n, i) = (-1)^i \sum_{j=i}^{\lfloor \frac{n}{2} \rfloor} \frac{(2j)!}{2^j j!} T_\lambda(n, 2j) S_1(j, i)$. Therefore, we obtain the following theorem.

Theorem 1.3. For $n \geq 0$, we let

$$\rho_\lambda(n, i) = (-1)^i \sum_{j=i}^{\lfloor \frac{n}{2} \rfloor} \frac{(2j)!}{2^j j!} T_\lambda(n, 2j) S_1(j, i).$$

Then we have

$$E_{n,\lambda}^{(x)} = \sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \rho_\lambda(n, i) x^i.$$

From (8), for any nonnegative integer m we note that

$$\begin{aligned} \sum_{n=0}^{\infty} E_{n,\lambda}^{(-m)} \frac{t^n}{n!} &= \left(\frac{2}{e_\lambda(t) + e_\lambda^{-1}(t)} \right)^{-m} \\ &= \frac{1}{2^m} (e_\lambda(t) + e_\lambda^{-1}(t))^m \\ &= \frac{e_\lambda^m(t)}{2^m} (1 + e_\lambda^{-2}(t))^m \\ &= \frac{e_\lambda^m(t)}{2^m} \sum_{l=0}^m \binom{m}{l} e_\lambda^{-2l}(t) \\ &= \sum_{n=0}^{\infty} \left(\frac{1}{2^m} \sum_{l=0}^m \binom{m}{l} (m-2l)_{n,\lambda} \right) \frac{t^n}{n!}. \end{aligned} \tag{13}$$

Therefore, by (13), we obtain the following theorem.

Theorem 1.4. For $n, m \geq 0$, we have

$$\sum_{i=0}^{\lfloor \frac{n}{2} \rfloor} \rho_\lambda(n, i) (-m)^i = E_{n,\lambda}^{(-m)} = \frac{1}{2^m} \sum_{l=0}^m \binom{m}{l} (m-2l)_{n,\lambda}.$$

From Theorem 1.3, we note that

$$\left. \frac{d^k}{dx^k} E_{n,\lambda} \right|_{x=0} = k! \rho_\lambda(n, k), \quad \left(1 \leq k \leq \left\lfloor \frac{n}{2} \right\rfloor \right).$$

Acknowledgment: This work was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MEST) (No. 2017R1A2B4006092).

REFERENCES

1. L. Carlitz, Degenerate Stirling, Bernoulli and Eulerian numbers, *Utilitas Math.* 15 (1979), 51-88.
2. L. Carlitz, A degenerate Staudt-Clausen theorem, *Arch. Math. (Basel)* 7 (1956), 28-33.
3. D. S. Kim, T. Kim, H. Y. Kim, J. Kwon, A note on type 2 q -Bernoulli and type 2 q -Euler polynomials, *J. Inequal. Appl.* 2019, Paper No. 181, 10 pp.
4. T. Kim, D. S. Kim, Degenerate central factorial numbers of the second kind, *Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM* 113 (2019), no. 4, 3359-3367.
5. D. V. Dolgy, G.-W. Jang, T. Kim, A note on degenerate central factorial polynomials of the second kind, *Adv. Stud. Contemp. Math. (Kyungshang)* 29 (2019), no. 1, 7-13.
6. G.-W. Jang, T. Kim, A note on type 2 degenerate Euler and Bernoulli polynomials, *Adv. Stud. Contemp. Math. (Kyungshang)* 29 (2019), no. 1, 147-159.
7. T. Kim, A note on degenerate Stirling polynomials of the second kind, *Proc. Jangjeon Math. Soc.* 20 (2017), no. 3, 319-331.

8. T. Kim, λ -analogue of Stirling numbers of the first kind, Adv. Stud.Contemp. Math. (Kyungshang) 27 (2017), no. 3, 423-429.
9. T. Kim, D. S. Kim, A note on type 2 Changhee and Daehee polynomials, Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM 113 (2019), no. 3, 2783-2791.
10. T. Kim, D. S. Kim, L.-C. Jang, H.-Y. Kim, On type 2 degenerate Bernoulli and Euler polynomials of complex variable, Adv. Difference Equ. 2019, Paper No. 490, 15 pp.
11. T. Kim, Y. Yao, D. S. Kim, G.-W. Jang, Degenerate r -Stirling numbers and r -Bell polynomials, Russ. J. Math. Phys. 25 (2018), no. 1, 44-58.
12. T. Kim, D. S. Kim, Degenerate Laplace transform and degenerate gamma function, Russ. J. Math. Phys. 24 (2017), no. 2, 241-248.

² SOGANG UNIVERSITY
DEPARTMENT OF MATHEMATICS
SEOUL, REPUBLIC OF KOREA
E-mail address: `dskim@sogang.ac.kr`

¹ KWANGWOON UNIVERSITY
DEPARTMENT OF MATHEMATICS
SEOUL, REPUBLIC OF KOREA(CORRESPONDING)
E-mail address: `tkkim@kw.ac.kr`

³ HANNAM UNIVERSITY
DEPARTMENT OF MATHEMATICS
DAEJEON, REPUBLIC OF KOREA(CORRESPONDING)
E-mail address: `ryoocs@hnu.kr`